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2. Astudent is performing an experiment to determine the mass percent of sulfate in an unknown soluble sulfate salt.
The equipment shown above is available for the experiment. A drying oven is also available. Note: barium sulfate is

insoluble in water. {/—digﬁlla{

a. Briefly list the steps needed to carry out this experiment. [2 points]
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b. What experimental data needs to be collected to calculate the mass percent of sulfate in the unknown? [2 points]
emasS ol nky oy, salt
W
’ n-,y\S‘Y Di} dr:’ -gi Hf’(’ }PQNP
i -~ ! ..
mal ot daed & Hev papef t PV‘QCA.P; fate s

¥
c. Starting with an initial sulfate salt sample of 8.52 g, the student is able to recover;?ﬁ?.Sz g of barium sulfate. What
is the mass percent of sulfate in the original sample? [3 points]
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d. If the student fails to dry the barium sulfate sample to constant mass, would this cause the calculated mass percent
of sulfate to be less than, equal to, or greater than the actual mass percent? Justify your answer. [1 point]
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